STATISTICS 1123

EXAM 2
NAME_________________________  30 Points                                 DATE:  17 May 08

1.  Find the following standard normal probabilities.  Show the normal curve with appropriate area shaded for each.

(a)
P(z > -2.10)

(b)
P(z < 3.22)

(c)
P(-2.33 < z < 2.33)

(d)
P(z < -1.75 or z > -0.75)

2.  In a survey of adults, 68% thought that DNA tests for identifying an individual were very reliable.  You randomly select 24 adults and ask each if she or he thinks DNA tests for identifying an individual are very reliable.  Use the following formulas:

 = np,      = (npq)1/2 ,    z = (x - )/where x = n + 0.5
(a)  Decide whether you can use the normal distribution to approximate the binomial distribution.  If not, explain why.  If so, find the mean and the standard deviation.

(b)  Find the probability that at most 15 people say DNA tests for identifying an individual are very reliable.

3.  Find critical value for t-test with the indicated sample size n and level of significance .


Two-tailed test, n = 20, = 0.05.

4.  Test claim about population mean, , using given sample statistics and level of significance .  Assume the population is normally distributed.



Claim:   = 95,  = 0.05.  X = 94.1, s = 1.53, n =12

tc =  X - 
         s/n1/2
5.  In a random sample of 200 Canadians ten years ago 22 had college degrees.  Five years ago, in a random sample of 300, 40 had college degrees.  At = 0 10 can you reject claim that the proportion of Canadians with college degrees were the same for both years.  Assume the population is normally distributed.

	10 Years Ago
	5 Years Ago

	n1 = 200
	n2 = 300

	p1 = _____________
	p2 = ____________

	n1p1 = X1= ________
	n2p2 = X2= _______


p = (X1 + X2)/(n1 + n2) 

Z = {(p1 - p2) - (p1 - p2)}/{pq (1/n1 + 1/n2)}1/2
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